Chapter 12

EXERCISE 12-4 (15-25 minutes)

	 (a)
	1.
	Straight-line Method:
	$77,000 – $5,000
	= $14,400 a year

	
	
	
	5 years
	


	
	2.
	Activity Method:
	$77,000 – $5,000
	= $.72 per hour

	
	
	
	100,000 hours
	


	Year 
	1999
	20,000 hrs. X $.72 =
	$14,400

	
	2000
	25,000 hrs. X $.72 =
	18,000

	
	2001
	15,000 hrs. X $.72 =
	10,800

	
	2002
	30,000 hrs. X $.72 =
	21,600

	
	2003
	10,000 hrs. X $.72 =
	7,200



3.
Double-Declining Balance Method: Each year is 20% of its total life. Double the rate to 40%.

	Year
	
	

	1999
	40% X $77,000 =
	$30,800

	2000
	40% X ($77,000 – $30,800) =
	18,480

	2001
	40% X ($77,000 – $49,280) =
	11,088

	2002
	40% X ($77,000 – $60,368) =
	6,653

	2003
	Enough to reduce to residual =
	4,979



4.
Capital Cost Allowance: 

	Year
	
	

	1999
	20% X $77,000 X ½ =
	$7,700

	2000
	20% X ($77,000 – $7,700) =
	13,860

	2001
	20% X ($77,000 – $21,560) =
	11,088

	2002
	20% X ($77,000 – $32,648) =
	8,870

	2003
	20% X ($77,000 – $41,518) =
	7,096*


* Assumes the asset is not disposed of in the 5th year.

EXERCISE 12-4 (Continued)

(b)
1.
Straight-line Method:

	Year 
	1999
	$77,000 – $5,000
	X 9/12 =
	$10,800

	
	
	5 years
	
	

	
	2000
	Full year
	14,400

	
	2001
	Full year
	14,400

	
	2002
	Full year
	14,400

	
	2003
	Full year
	14,400

	
	2004
	Full year X 3/12 year =
	3,600



2.
Double-Declining Balance Method:

	


Year
	
	


Cost
	
	Accum. Amort. at beg. of year
	
	Book Value at beg. of year
	
	

Amort. Expense

	1999
	
	$77,000
	
	—
	
	$77,000
	
	$23,100

	2000
	
	  77,000
	
	$23,100
	
	  53,900
	
	  21,560

	2001
	
	  77,000
	
	  44,660
	
	  32,340
	
	  12,936

	2002
	
	  77,000
	
	  57,596
	
	  19,404
	
	    7,762

	2003
	
	  77,000
	
	  65,358
	
	  11,642
	
	    4,657

	2004
	
	  77,000
	
	  70,015
	
	    6,985
	
	     1,985*


*to reduce to $5,000 residual value.

(c) Carrying value of the machine on September 30, 2002:

1. Straight-line Method: 

$77,000 – [$10,800 + ($14,400 X 3)] = $77,000 - $54,000 

= $23,000

2. Double-Declining Balance Method:

$77,000 - $65,358 = $11,642

3. Tax value (UCC) = $77,000 - $41,518 = $35,482

EXERCISE 12-8 (20-25 minutes)

Old Machine

	June 1, 1999
	Purchase
	$31,000

	
	Freight
	200

	
	Installation
	       500

	
	
Total cost
	$31,700



Annual amortization charge: ($31,700 – $2,500) ( 10 = $2,920


On June 1, 2000, debit the old machine for $1,980; the revised total cost is $33,680 ($31,700 + $1,980); thus the revised annual amortization charge is: ($33,680 – $2,500 – $2,920) ( 9 = $3,140.

	Book value, old machine, June 1, 2003:
	

	   [$33,680 – $2,920 – ($3,140 X 3)] =
	$21,340

	Fair market value
	  20,000

	Loss on exchange
	1,340

	Cost of removal
	         75

	
Total loss
	$  1,415


New Machine

Basis of new machine
	Cash paid ($35,000 – $20,000)
	$15,000

	Fair market value of old machine
	20,000

	Installation cost
	    1,500

	
Total cost of new machine
	$36,500


Amortization for the year beginning June 1, 2003 

= ($36,500 – $4,000) ( 10 = $3,250.

EXERCISE 12-11 (10-15 minutes)

(a) No correcting entry is necessary because changes in estimate are handled in the current and prospective periods.

(b)
Revised annual charge:


Book value as of 1/1/2003 [$60,000 – ($7,000 X 5)] = $25,000


Remaining useful life = 5 years (10 years – 5 years)


Revised residual value = $4,500


($25,000 – $4,500) ( 5 = $4,100

	
	Amortization Expense—Equipment

	4,100
	

	
	
Accumulated Amortization—


       Equipment

	
	4,100


EXERCISE 12-12 (20-25 minutes)

(a) 1975-1984: ($2,000,000 – $60,000) ( 40 = $48,500/yr.

(b) 1985-2002: 

Building ($2,000,000 – $60,000) ( 40 =
$48,500/yr.


Addition ($500,000 – $20,000) ( 30   =
  16,000/yr.








$64,500/yr.

(c)
No entry required.

(d)
Revised annual amortization

	Building
	

	
Book value: ($2,000,000 – $1,358,000*)
	$642,000

	
Residual value
	    60,000

	
	582,000

	
Remaining useful life
	32 years

	
Annual amortization
	$  18,188

	
	

	Addition
	

	
Book value: ($500,000 – $288,000**)
	$212,000

	
Residual value
	    20,000

	
	192,000

	
Remaining useful life
	32 years

	
Annual amortization
	$    6,000




 *$48,500 X 28 years = $1,358,000



**$16,000 X 18 years = $288,000


Annual amortization expense: 

building ($18,188 + $6,000)     $24,188
EXERCISE 12-13 (15-20 minutes)

(a) $2,200,000 ( 40 = $55,000

	(b)
	Loss on Disposal of Plant Assets

	80,000
	

	
	Accumulated Amortization—Building
	
	

	
	   ($160,000 X 20/40)

	80,000
	

	
	
Building

	
	160,000

	
	
	
	

	
	Building

	300,000
	

	
	
Cash

	
	300,000

	
	
	
	



Note: The most appropriate entry would be to remove the old roof and record a loss on disposal, because the cost of old roof is given. Another alternative would be to debit Accumulated Amortization on the theory that the replacement extends the useful life of the building. The entry in this case would be as follows:

	
	Accumulated Amortization—Building

	300,000
	

	
	
Cash

	
	300,000



As indicated, this approach does not seem as appropriate as the first approach.

(c)
No entry necessary.

EXERCISE 12-13 (Continued)

(d)
(Assume the cost of old roof is removed)

	
	Building ($2,200,000 – $160,000 + $300,000)
	$2,340,000

	
	Accumulated Amortization ($55,000 X 20 – 

$80,000)
	  1,020,000

	
	
	1,320,000

	
	Remaining useful life
	   25 years

	
	Amortization—2002 ($1,320,000 ( 25)
	$    52,800

	
	OR

	
	(Assume the cost of new roof is debited to 
	

	
	   accumulated amortization)
	

	
	Book value of building prior to the 

   replacement of roof
	

	
	   $2,200,000 – ($55,000 X 20) =
	$1,100,000

	
	Cost of new roof
	     300,000

	
	
	$1,400,000

	
	Remaining useful life
	   25 years

	
	Amortization—2002 ($1,400,000 ( 25)
	$     56,000


EXERCISE 12-16 (10-15 minutes)

	(a)
	December 31, 2002

	
	Loss on Impairment

	1,000,000
	

	
	
Accum. Amortization—


Equipment

	
	1,000,000


	Cost
	$9,000,000

	Accumulated amortization
	  1,000,000

	Carrying amount
	8,000,000

	Expected future net cash flows
	  7,000,000

	Loss in impairment
	$1,000,000


	(b)
	December 31, 2003

	
	Amortization Expense

	1,750,000
	

	
	
Accum. Amortization—


Equipment

	
	1,750,000


	New carrying amount
	$7,000,000

	Useful life
	      4 years

	Amortization per year
	$1,750,000


(c)
No entry necessary. Restoration of any impairment loss is not permitted, and the amount is below the carrying value of the equipment.

EXERCISE 12-19 (15-20 minutes)

(a)
Depletion charge: 

Amortizable Cost of Timberland: 

$1,400 – $400 = $1,000 per hectare


Total amortizable cost: $1,000 X 9,000 hectares 

= $9,000,000 of value of timber

Depletion Rate = ($9,000,000 ( 3,500,000 m3) = $2.57 per m3 Depletion charge = $2.57 X 700,000 m3 = $1,800,000

(b) Cost of Timber Sold related to depletion: 

$9,000,000 – $1,800,000 = $7,200,000

$7,200,000 + $100,000 = $7,300,000


($7,300,000 ( 5,000,000 m3) X 900,000 m3 = $1,314,000

Note: The spraying costs as well as the costs to maintain the fire lanes and roads are expensed each period and are not part of the depletion base.

EXERCISE 12-20 (10-15 minutes)

	Cost per barrel of oil:
	


	Initial payment =
	$500,000
	=
	$2.00

	
	250,000
	
	


	Rental =
	$31,500
	=
	1.75

	
	18,000
	
	

	
	
	
	

	Premium, 5% of $15 =
	.75

	
	
	
	


	Reconditioning of land =
	$30,000
	=
	    .12

	
	250,000
	
	

	
	
	
	

	
Total cost per barrel
	
	$4.62


